e ; [Mruﬁ{"" &Hi('?nwulf #C}' WQM

LQ_.& a) Te  ditrendinl Listance /f'_jésf ravels
. bw o arny s
(8Lt)e4 AL, +2X) ~2L > AsXs
Jo suideh Frow construedive 0 clatruct,
S wterorpnoe 2rX= A => sx= Ay

£) ¢ 77u eleedn ¢ Getsl  in Hee aérfv{ c2ring
ij&f' dZ{_ﬂ /"ae(_uaﬁ’l;o
l:.:; - ED = ¢ kedly = iw®
andd m e Secouol Arny
e FE%&L(TAX) — (i

£y = E
{:.-) : A~ S0
> | kel ~fwé ‘ L taK) = wE
| Bz EeE, = Ee +E, XU
_ Eoemﬂ' wb— 4X [e;kaxlfe-tk'éx.(
L,/—Y—\j
4 ees kax
Avpliducle 2E, ety lesx — alfer recowhitnsdiouw

/41‘.0//‘@0“ b@fﬂ"& .S’,b/lqg’”gf "'_o'?,Eo_
P, % UEealx)” = (26)° o’ kon
Py =< ( 2E)*

Pir= P, e8’ kox= P, co’ ”’?x

o

‘ ~23 =2
@ @ sx=10 L = 4140
' | e\ =25
Ddcerkt Lo K-‘hig\ﬁ‘;x ~ P, (E{) = 5.6-'02 W
"y Pami: dws r
T = 0.95 Pho*fom,




O

Q3 > K= eV= 166 twovz Lb.G " T
@) K= ‘1‘2_ é = ‘): 2 P
o ~ 2nth _o2m \0—3'* I 2 034
N Ao, K VZa0-ky - 1410 ;
Ne = 123400 = 123 A

¢) I e Pasﬂnh»\&ﬂa cﬁauan,g 53
Mefg = 0.blA | e gign of iukerfenense
wil change

B4 z
ED , T “&Eo . ' '£ Eb 550: k‘L= 2[1"—
rtEo e . 2(ap A
mf——“érzgo €
A a8 ;
i':f—:"""" *zrquuelha‘F
_ 7 Epe PRI erﬂhx‘f’ n= 612,
O Eur: By B = LR VB
+ £ g 34@*--- = 4, 2 r” 6:#44-»(# =
_ 'ﬁzgp e ~ .ézg‘ﬂ ==
=g e [ - P explIt)
> - £5)°
d) IE.‘.&‘,I = Eil‘ri + Em = e __—_—...,' lfﬂ‘-/a
o (i-r*e ¥ ™) (1- re )
— [’ézE) ) ~ (.&‘on)Z
i+ +9 - gp> fgt ‘IT‘U) e-—(‘ll’l/z) 44— 31..2%(1/171/2)
/ 2
Bt |* {_'hs -t bor

I -'E,:}; = v r- 20 —(urrl./)) ) Tmax=-

L. gmmq meop



12

0.8

0.6

0.4

0.2

Fabri-Perot interferometer transmission
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